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The figures in the margin indicate full marks
' for the questions :

| 1. Answer the followmg unSthnS (w1thm 50 words

- each): . 2x4=8
@ What is repo rate and, reverse repo rate ?
() Explain Ratche inflation ?

~(;c) State th¢ factors on which demand for money |
depends according to Fisher.

(d) What do you mean by money supply multi-
plier ? A

[Turn over



() Critically explain the Porgg,

2. Answer the following questions (witlﬁn 150 wérds
- each): . | T 5%x4=20

(2) Write a note on Keynes theory of demand for
money. R |

(b) Explain in brief the functions of financial

system. . :

(c) Distinguish between inside ang

with examples. - outside money

: (d) Write a note onfill'lﬂationary gap.

Briefly answer any fwo ‘of the following» ques-

tions: . . ’ 10X2=20

~ (a) What is money market? Eyplain gifferent

instruments of money marke;

lio Balance Ap-
ey.

(c) What do you mean by Mone -
Distinguish between tota] stc) Of);nosr?:;a)n’id
total supply of money,

proach of Demand for Mgy

(d) State the Lucas supply ¢y,
effect of anticipated and
supply under the rationg]
brium approach.

€. Analyze the
anticipated money
-CXpectation equili-

4. -Answer any two of the following questions :

16x2=32

(@) What is financial system? Discuss the
components of financial system and bring out
the interactions between them with the help
of an example. - 2+14=16

Or.

Explain the Baumol’s ﬂiebrj ‘of démand for
money. Also state the Baumol’s square root
formula. - 12+4=16

(b) Discuss high powered money as the most
important determinant of money supply. What
are the characteristics of money ?

‘ 10+6=16

Or

What is Phillips curve ? How does the Phillips
curve explain the trade-off between unemploy-
ment and ipflatjon ? CritiCally explain the
Friedman’s long-run Phillip’s curve.

' 2+8+6=16
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